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Instructions for the candidates :-

1.

wiemefi OMR STR U5d WX 3{UA1 U RA®T HHlD (10 bl B1) Jaey
fored |

Candidates must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

RIeTTeff AARIIT 370 TTR] H B IR T |

Candidates are required to give answer in their own words as far
as practicable.

S 3R BRI W &Y gU 3fp QUi Mfde &xd 7 |

Figures in the right hand margin indicate full marks.

el BT IHYGd Tt & oIy 15 e &1 ifaRaw w9 fear w2 |
15 minutes of extra time has been allotted to read the questions
carefully.

Ig UIT—UF qJ WUs H 5—GUs—3 Ud EUs—d |



This question booklet is in two sections- Section-A and Section-
B.

GUS—3 H 80 IS YA 7 fOIH 40 U Sifard | afe wermelt 40
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STR—ITF TR Aol [Ahcd B Flel /et ddd 09 F W | ffl ff bR
$ R /WA Y / <€ /ARG 3 &1 OMR ITR-936 H YIART
TE BN IRIAT TeT UROTH AR BT |

In Section-A there are 80 objective type questions out of which 40
qguestions are compulsory. If the candidate answers more than 40
questions, the first 40 answers only will be evaluated. Each
question carries 1 mark. For answering these darken the correct
circle on the OMR answer sheet with black/blue ball pen. Do not
use Whitener/liquid material/blade/nail etc. on the OMR Answer
Sheet otherwise the result will be invalid.
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& forw 2 sfw fuifRa g
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JJURA # 4 Y IR T (I T=AT 15 A 18) &, R | gl 2
Ul & SR ST © |
T § 6 ofg STRIA T (I A&7 21 9 26) 8 R 4 fagl 3
Ul & SR ST © |

3MIeT T § 4 oY STRIT U (U9 W@ 20 & 32) €, R 9 faR
2 Ul B SR AT = |

o\

g SIfRad 8 <Id SR U9 (U9 6= 7, 8, 13, 14, 19, 20, 27, 28)

2| Uhd U & forv 4 3f [uiRa &1 sfosrmd Joifa g, sefvmes

Td I H TS 9 -V <" ST U BT IR ST 2|

In section-B, there are Short Answer Type Questions of 5 subjects

of Social Science. Each question carries 2 marks.

History has 6 Short Answer Type Questions (Q Nos. 1 to 6) out of

which any 3 questions are to be answered.

Political Science has 4 Short Answer Type Questions (Q. Nos. 9 to

12) out of which any 2 questions are to be answered.

Economics has 4 Short Answer Type Questions (Q. Nos. 15 to 18)

out of which any 2 questions are to be answered.

Geography has 6 Short Answer Type Questions (Q. Nos. 21 to 26)

out of which any 3 questions are to be answered.



Disaster Management has 4 Short Answer Type Questions (Q.

Nos. 29 to 32) out of which any 2 questions are to be answered.

Apart from these, there are 8 Long Answer Type Questions (Q.
Nos. 7, 8, 13, 14, 19, 20, 27, 28). Each question carries 4 marks.
One Long Answer Type Question each from History, Political

Science, Economics and Geography is to be answered.

8. fhefl TR & Seracie IUBROT BT gt yofaqar afsta 2|

Use of any electronic appliances is strictly prohibited.

Hus—3[ / Section-A

axqf<iss 9431 / Objective Type Questions

9T GIT 1 W 80 db & UAH U & A1 IR Ay feu v 8, 99 9t Wl
2| AF gRT g U Wal fAwed 1 OMR ¥fic W faffed & | wad 40 U @&

TN T 40 X 1 = 40

Question Nos. 1 to 80 have four options each, out of which only one is
correct. Mark your selected option on the OMR sheet. Answer any 40
questions. 40 x 1 =40
1. T 9 DF fds darE T8l 7 7

(A) Foel (B) facd

(C)us (D) A1

Which of these is not a biotic resource ?

(A) Fish (B) Soil



(C) Tree

YRT ARDR Bl g7 AT B JJAR HF A DA a1 Uicrerd o 90T aaresiiad

AT =Afey ?
(A) 15 wfaerd
(C) 30 ufcrera

According to the forest policy of government of India, at least what

(D) Human Being

(B) 33 wfaerd
(D) 45 gfcrerd

percentage of land should remain under forest cover ?

(A) 15 Percent

(C) 30 Percent

HEMGl IR I AT 91 g7 8 2

(A) YIEgST AT

(C) ERThS

9

Which dam is built on Mahanadi ?

(A) Bhakra Nangal
(C) Hirakund
eI

(A) FoIRaT @ g
(C) 3% frar® =
Taxol is a :

(A) Anti Malaria drug

(B) 33 Percent

(D) 45 Percent

(B) RIS TR
(D) REg

(B) Nagarjuna Sagar

(D) Rihand

(B) FHRE =TT
(D) T P1g e

(B) Anti Cancer drug



(C) Pain reliever drug (D) None of these

ST I B9 ulfcas @i T8 g ?

(A) STITSE (B) HrTSE
(C) IwrEe (D) e
Which of these is not a metallic mineral ?

(A) Bauxite (B) Chromite
(C) Graphite (D) Nickel

39 I B RN BRI SR 6T &F 8 7
(A) SIRES (B) #ETera
(C) snfsem (D) 7 u<er

Which of these is a region of tertiary coal reserve ?

(A) Jharkhand (B) Meghalaya

(C) Odisha (D) Madhya Pradesh
ST ¥ B URATY] I BT AR T8 7 ?

(A) T (B) sfawrse
(GEBINIFE (D) enfRzr

Which of these is not a source of nuclear power ?

(A) Uranium (B) Bauxite

(C) Monazite (D) Thorium

MR I FHol (o ST &3] | dfer 771 8 2

(A) 5 (B) 6



10.

11.

(C)s (D) 9
India is divided into how many postal zones ?
(A) 5 (B) s

(C)s (D) 9

STH A B T 3H H 916 BT HRUT & ?

(A) = (B) serg
(C) =it (D) #=T<

Which of these rivers is the cause of flood in Assam ?

(A) Beas (B) Brahmaputra
(C) Tapti (D) Mahanadi
TR MR g NGO &1 Heer b 50 | 77

(A) faer (B) Towrd

(C) a=a (D) oI

To which state Tarun Bharat Sangh NGO is related ?
(A) Bihar (B) Gujarat
(C) Kerala (D) Rajasthan

g TH A fhgdT IUANT goldeif-d S & 8l € 2

(A) 19D (B) HT=irat
(C) dferge (D) 379 &+
Which of these is used in electronic industries ?

(A) Mica (B) Manganese



(C) Bauxite (D) All of these
12, $RYY STAR™ uRAreH & I | § 7
(A) AfoTgR (B) fagr
(C) Fxe (D) SIRES
Indrapuri Jalashay Project is located in which state ?
(A) Manipur (B) Bihar
(C) Kerala (D) Jharkhand
13, JNMMIRT e & foy TR &1 T8 gd &1 M ©

(A) =1 g% (B) Teir g

(C) ¥ g® (D) ¥© I

The book made for extraordinary Plants is :

(A) Blue Book (B) Yellow Book
(C) Green Book (D) Red Book

14, fa=folRad & @ o9 & vao T8 € ?

(A) 1§ (B) =7
(C) =mact (D) Wt
Which of the following is not a Rabi crop ?
(A) Wheat (B) Gram

(C) Rice (D) Mustard

15, e SN BT Hedl Aol B

(A) TATIRR (B) et



16.

17.

18.

(C) T (D) 74 @

The raw material of cement industry is :

(A) Limestone (B) Coal

(C) Aluminium (D) All of these

HIHT N IRITST BT Fag b 59 4 7 ?

(A) FERTeS (B) rar

(C) Pt (D) 377 =

Konkan Rail Project is related to which state ?

(A) Maharashtra (B) Goa

(C) Kerala (D) All of these

1992 H R&AT €1 SIFRT § @1 AT o7 ?

(A) STerarg aRadd a e (B) gedt fIreR A=Y
(C) ST =T W ye (D) & RerT T=e
What took place in Rio de Janerio in 1992 ?

(A) Climate Change Summit (B) Earth Summit

(C) Population Control Summit (D) Economic Development Summit
IRd H Haiee = @ Al urg ol 7 ?

(A) et (B) efevrse

(C) Sieite (D) =iret

Which soil is mostly found in India ?

(A) Black (B) Laterite



19.

20.

21.

22.

(C) Alluvial (D) Red

YRA H UBAT STAfde]d HIF Hal TRl T o ?

(A) Rrawrges (B) #frenvor

(C) =fifer (D) Rrer

Where was the first hydroelectric Plant set up in India ?

(A) Shivasamundram (B) Manikaran

(C) Darjeeling (D) Shimla

fER # SRS FREMT Haf Rod g ?

(A) g (B) dfe
(C) o= (D) T
Where is fertilizer factory located in Bihar ?
(A) Patna (B) Banka
(C) Barauni (D) Gaya
fferRed FR® # 9 q@ & fog AR 7 2

(A) qPma (B) 15

(C) st BT = (D) T

Which of the following factor is responsible for drought ?
(A) Earthquake (B) Flood

(C) Lack of rain (D) Tsunami

AGR TRIAR G ST BT AR §

(A) T TE ¥ (B) T =&Y ¥

10



23.

24.

25.

(C) TR =141 ¥ (D) ScersT Far |
Sardar Sarovar artificial reservoir is related to :
(A) Narmada River (B) Ganga River

(C) Damodar River (D) Satluj River

S, 2023 H YR H HIF AT AshdTd AT ?

(A) geTgel (B) fausita

(C) s (D) 3774 & PIz el
Which cyclone hit India in June, 2023 ?

(A) Bulbul (B) Biparjoy

(C) Yaas (D) None of these

ged) T g W FIY Ugel UgT dlell YUy aRT &

(A) wrrfaes (P) (B) f&<iaa (S)
(C) < (L) (D) 37 & it
The first seismic wave to reach the surface of the earth is :
(A) Primary (P) (B) Secondary (S)

(C) Long (L) (D) All of these

AR BT A ATBUT A ©

(A) IS TeTHIA (B) HraTSd
(C) drd—<iat DKER
The most popular means of communication is :

(A) Public Telephone (B) Mobile

11



(C) Walky-Talky (D) Radio

26.  HAGT HRUNIF Tae [hdd ARITRIA H TR garr ?
(A) @S B (B) <if€ feres
(C) @fe Sagroi (D) @ire Rud
In whose reign the Calcutta Corporation Act passed ?
(A) Lord Curzon (B) Lord Lytton

(C) Lord Dalhousie (D) Lord Ripon

27.  JRY H AgATE Bl PO Pal | gy 7

(A) w1 (B) ST

(C) v (D) geeht
From where did nationalism start in Europe ?
(A) France (B) Germany
(C) Russia (D) ltaly

28. TS XSG HY Bl RAGT fhaT @y ?
(A) o =1 (B) wifera A
(C) AT =1 (D) @ifF =
Who founded the Union of Rhine states ?
(A) Bismarck (B) Napoleon
(C) Mazzini (D) Lenin

29. ‘e MR b fordl ?

(A) et (B) Siewicra

12



(C) == (D) Pret ATG
Who wrote ‘April Theses’ ?
(A) Rousseau (B) Tolstoy
(C) Lenin (D) Karl Marx
30. gaTs REGHTIR' &1 Tod et fear ?
(A) dug srEFg df (B) @ 3fgel TIHR Bl
(C) &. 9. gSaR (D) ST XM HET
Who founded ‘Khudai Khidmatgar’ ?
(A) Syed Ahmed Khan (B) Khan Abdul Gaffar Khan
(C) K. B. Hedgewar (D) Raja Ram Mohan Roy
31. Tl &RedTdd + 394 9 ! Iy & ?
(A) TR TTe (B) Faxrot Trc
(C) f&vg HerawT (D) T |+
Which of these was founded by Lala Hardayal ?
(A) Gadar Party (B) Swaraj Party
(C) Hindu Mahasabha (D) Kisan Sabha
32.  RIATQT I BT I3 DI o ?
(A) AR®T (B) \ifdga w9
(C) fares (D) &=
Who was the leader of the communist group ?

(A) America (B) The Soviet Union

13



33.

34.

35.

36.

(C) Britain (D) China

STH 9 T AT R @ i § 2

(A) et o (B) vgfRe Al

(C) wara iR (D) Bre faet

Which of the following is the work of Martin Luther ?

(A) April Theses (B) Communist Manifesto
(C) Ninety-five Theses (D) Common Will

M ToIC BT YBEE fhast fear ?

(A) o7 T R (B) He= Higw HeTdr
(C) == 1T TR (D) ¥R T= EmTR
Who published the Bengal Gazette ?

(A) James A. Hicky (B) Madan Mohan Malaviya

(C) Rabindra Nath Tagore (D) Ishwar Chand Vidhyasagar

A 50 A fE qe & el o ?

(A) iRz (B) wis

(C) fares (D) gt

Greece was under control of which of the following countries ?
(A) Austria (B) France

(C) Britain (D) Turkey

T B dred & Ty TSl 4 DIF—aT I A1 ?
(A) |TeaRHA¢ (B) @

14



(C) =ret (D) =aRoT
Which place did Gandhiji choose to break the Salt law ?
(A) Sabarmati (B) Surat
(C) Dandi (D) Champaran
37. QAN ®I a5 fHY el ST & ?
(A) T dfica (B) 3ttt iR
(C) wreret pigTe (D) Frgfee Afoeer
Which is called the bible of Socialists ?
(A) Das Kapital (B) April Theses
(C) Social Contract (D) Communist Manifesto
38. Ud Wdd I b U H RGR &1 I fba ay garr ?
(A) 1945 (B) 1965
(C) 1975 (D) 1955
In which year did Singapore emerge as an independent nation ?
(A) 1945 (B) 1965
(C) 1975 (D) 1955
39. fau=m &0 # o1 I afaferd [gT o ?

(A) faes (B) S
(C) &9 (D) Wi
Which nation was not present in the Vienna Congress ?

(A) Britain (B) Germany

15



40.

41.

42.

(C) Russia (D) France

BRIS D DI WIAT fhast aof ?

(A) TH. TH. I (B) g9 ¥« 919

(O EISIRSERIC (D) RS T

Who founded the Forward Block ?

(A) M. N. Roy (B) Subhash Chandra Bose
(C) Lala Hardayal (D) Chitranjan Das

EEEANI BB G N S G o ICTIN S B B S |

(A) TERTS; SR e (B) FERTS: 3R ToRT
(C) #ERT; 3R Frilcdh (D) FERT 3R FfEer gew
Which two states were formed by dividing Bombay State ?
(A) Maharashtra and Goa

(B) Maharashtra and Gujarat

(C) Maharashtra and Karnataka

(D) Maharashtra and Andhra Pradesh

fER # ga fea TR—FH g f6 1w g 2

(A) 10 (B) 19

(C) 12 (D) 14

How many municipal corporations have been established in Bihar ?

(A) 10 (B) 19

(C) 12 (D) 14

16



43.

44.

45.

46.

RIS YIS+ SN &I ITYAT 6d g3 ?
(A) 1950 (B) 1952

(C) 1953 (D) 1954

When was the State Reorganization Commission established ?

(A) 1950 (B) 1952

(C) 1953 (D) 1954

AT AR AT BT T B BT © 7

(A) fraferd T (B) &=g <t

(C) wxres <o (D) fauel =t

Who makes election code of conduct ?

(A) Election Commission (B) Regional Party
(C) Ruling Party (D) Opposition Party
fferR & damd I HRemy g

(A) TH—TT (B) QI

(C) TH—%<a (D) FR—wH
Panchayati Raj Institutions in Bihar are :

(A) One-tier (B) Two-tier

(C) Three-tier (D) Four-tier

3T W G &I fov <=1 @1 RS € 2

(A) =ITEIR (B) wTuret

(C) e (MELEI

17



47.

48.

49.

Aung San Suu Kyi is a citizen of which country ?

(A) Myanmar (B) Nepal

(C) Bhutan (D) Bangladesh
farelt @1 v Afge rgufa di off ?

(A) 7 = (B) fobm duder

(C) @Rt fifrem (D) fieret drere
Who was the first woman president of Chile ?

(A) Mary Robinson (B) Kim Campbell
(C) Laura Chinchilla (D) Michelle Bachelet
374 A b W) Ahdd &1 vfasg iR dear g 7

(A) Sferars (B) freger g=ma

(C) srerimaarg (D) 377 & g T
On which of these the future of democracy depends ?
(A) Casteism (B) Fair election

(C) Separatism (D) None of these
B H g B Wil DI Fe&AT fha- 7 ?

(A) 540 (B) 543
(C) 545 (D) 550
What is the number of elected members in the Lok Sabha ?
(A) 540 (B) 543

(C) 545 (D) 550

18



50.

51.

52.

53.

$TH W BBl Ucdel Alhad § ?

(A) Racorets (B) fareH
(C) wRa (D) &
Which of these is a direct democracy ?

(A) Switzerland (B) Britain

(C) India (D) China

= ST IR UM UarId &I 76 fhar ST g 2

(A) U ESIR (B) < &VIR

(C) 9rd 89IR (D) UgE 'R

Gram Panchayat is formed based on what population ?
(A) Five thousand (B) Ten thousand

(C) Seven thousand (D) Fifteen thousand

1975 & JMMUTADBIS B BT fhasT Bl ?

(A) ST Tt (B) TR IS BRI

(C) 985 |HIST Uret A (D) Irgars! BRI urel |

Who declared the emergency of 1975 ?

(A) Janta Party (B) Bhartiya Rashtriya Congress

(C) Bahujan Samaj Party (D) Nationalist Congress Party
X Tl BT TR DI dRaT © 7

(A) axua (B) w_TIR
(C) fSTetT SSTewRy PISERIRICIN

19



54.

55.

56.

Who administers the whole district ?
(A) Sarpanch (B) Mayor
(C) District Magistrate (D) Session Judge

T ¥ Aleas a9l & oy H9 Tcre gar ?

(A) 2000 (B) 2002

(C) 2006 (D) 2010

When did the movement for the return of democracy take place in

Nepal ?

(A) 2000 (B) 2002
(C) 2006 (D) 2010
STeT AMYRT & fSiaxvT & fdog ®al Hoy gaf ?
(A) =TT (B) et
(C) aivarew (D) afeerrs

Where did the struggle against privatization of water supply take place ?
(A) Nepal (B) Bolivia
(C) Bangladesh (D) Belgium
fRaT (Whig) Td 2RY (Tory) FTH® SIS Gl BT deel fha ST A 8 7

(A) AT (B) ST 3Rl
(C) Afoa® (D) fore-
Whig and Tory political parties are related to which country ?

(A) Yugoslavia (B) Northern Ireland

20



57.

58.

59.

60.

(C) Mexico (D) Britain

STcie H ARl Bl dic &1 Af&BR B T gafl ?

(A) 1873 (B) 1918

(C) 1928 (D)1945

When did women get the right to vote in England ?

(A) 1873 (B) 1918

(C) 1928 (D)1945

ST 9 T FUTHS AT IR &I fIerdr 7 ?

(A) T TR (B) Rarcisl =arTforehT

(C) \fderm= &1 Hareaar (D) 377+ AW

Which of these is a characteristic of a federal system of government ?
(A) Dual government (B) Independent Judiciary
(C) Supremacy of constitution (D) All of these

gt TR i # foaw ar€ € ?

(A) 45 (B) 48

(C) 53 (D) 75

How many wards are there in Patna Municipal Corporation?
(A) 45 (B) 48

(C) 53 (D) 75

YRR ST ISl a1 AT0T fheian] ezl H gs ?
INECSREEEEINER (B) ATl G 3T<Sar

21



61.

62.

63.

(C) BriRm™ (D) s Rig

The Bharatiya Janata Party was founded under whose chairmanship ?

(A) Atal Bihari Vajpayee (B) Lal Krishna Adwani
(C) Kashiram (D) Ajeet Singh

R fder gRvg &7 7o+ b garr ?

(A) 1950 (B) 1952

(C) 1954 (D) 1956

When was the National Development Council formed ?
(A) 1950 (B) 1952

(C) 1954 (D) 1956

TR H I 3T BT 70T fhsg e gRT &1 Sl & 7
ORI IRI (B) T ST

(C) o= \AiRkara! |8 (D) g wfcreel wderor |ire
Which organization calculates national income in India ?
(A) NITI Aayog

(B) Planning Commission

(C) Central Statistical Organisation

(D) National Sample Survey Organisation
Y=C+|H|Famg?

(A) 3 (B) faer

(C) ST (D) =Tt

22



64.

65.

66.

WhatislinY=C +17?
(A) Income (B) Investment

(C) Consumption (D) Interest
T W T g TS IArg § et T8 g g ?

(A) 9191 BT T (B) ez

(C) &= AT ®I BIHa (D) 7H &

Which of these is not included in Net National Product ?
(A) Expenditure on insurance (B) Depreciation

(C) Price of raw material (D) All of these

W9 BT 39 A fha a9 # e dea g ?

(A) TIiE &= (B) fe<iae &=

(C) T &7 (D) 577 & ®IE 7Tl
Mining is included in which of the following sectors ?

(A) Primary Sector (B) Secondary Sector
(C) Tertiary Sector (D) None of these

e refegaven # die HeaTT W g feam Smar g 2

(A) TSTrardT srefeaser (B) FHTSTaTST 3refaraser
(C) fafda sreferqwen (D) g @I &l

In which economy public welfare is emphasized ?

(A) Capitalist economy (B) Socialist economy

(C) Mixed economy (D) None of these

23



67. T4 I T Yoll & UIRSfH® © ?
(A) T (B) o
(C) =arst (D) =i
Which of the following is remuneration of capital ?
(A) Rent (B) Wages
(C) Interest (D) Profit

68. TIH W T GRANTT faT w1 @I © ?
(A) FrEToTT (B) =T
(C) Rearer (D) TEHr I
Which of the following is a source of institutional finance ?
(A) Money lender (B) Trader

(C) Relatives (D) Cooperative Bank

69. WRWR Yol gIoIR o YR &7 fOxi FmE UG &_ar § 2
(A) STl (B) ez 3rafy
(C) <repref (D) =7 =+
What type of financial resource does Indian Capital Market provide ?
(A) Short term (B) Medium term

(C) Long term (D) All of these
70. UM fABr T FHfY & g k0T UG R arell FRemsil B faxT &1 amyfd

P PRAT 8 ?

(A) TEPRT I (B) ¥ fare §a

24



71.

72.

73.

(C) -aTe (D) ¥=aa R §&
Who supplies finance to institutions engaged in providing loans for
agriculture and rural development ?

(A) Cooperative Bank (B) Land Development Bank

(C) NABARD (D) Reserve Bank of India

YRA H FSHINGT 3TQleTd BT YRH B g3l ?

(A) 1901 (B) 1904

(C) 1912 (D) 1915

When did Co-operative Movement start in India ?

(A) 1901 (B) 1904

(C) 1912 (D) 1915

IR <2 & PRITA BT AHIe 2R (69 & d HRIRT 8iar & 7
(A) BT = (B) fafvsior &=

(C) Jar &= (D) 37 | 31 7

Larger part of the work force of developed countries is engaged in
which sector ?

(A) Agriculture sector (B) Manufacturing sector

(C) Service sector (D) None of these

IR # 8 e N w9 ang @ g ?

(A) 1975 (B) 1982

(C) 1991 (D) 1995

25



74.

75.

76.

When was the New Economic Policy implemented in India ?

(A) 1975 (B) 1982

(C) 1991 (D) 1995

$Y IR & YA & oy fha a1 o &1 varT far iar € 2

(A) ISI =T (B) TS
(C) &t 5T (D) s7# @+t

Which standard symbol is used for agricultural products certification ?

(A) ISI Mark (B) AGMARK

(C) Hall Mark (D) All of these

AHq Yo &7 UG TCH DI 8 ?

(A) Aot (B) ey
(C) e (D) 37 &+
What is the main component of human capital ?
(A) Food (B) Health

(C) Education (D) All of these

STATER ISR AT 6 AN Bl T ?

(A) 1980 (B) 1989

(C) 1997 (D) 2004

When was Jawahar Rojgar Yojana first implemented ?
(A) 1980 (B) 1989

(C) 1997 (D) 2004
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77.

78.

79.

80.

HDI (A1 A gadich) od Yo oI T3 7

(A) 1980 (B) 1990

(C) 1970 (D) 1960
When was HDI (Human Development Index) introduced ?
(A) 1980 (B) 1990

(C) 1970 (D) 1960

M 9 D URIHS 8 3 fhar T8l 7 ?

(A) arfrat (B) Aol aTe
(C) fafFror (D) T—dTer
Which of these is not a primary sector activity ?
(A) Forestry (B) Fisheries

(C) Manufacturing (D) Animal husbandry
STH W T AT & SIey FANT BT JHRT Bl 8T BNl © 2

(A) a¥Y (B) a%q qaT

(C) F&T (D) 5 ¥ <

Which of these solves the problem of double coincidence of wants ?
(A) Goods (B) Commodity money

(C) Money (D) All of these

STH ¥ DIF ARG 96 8l § 7

(A) ®e §% oifp s (B) T et §%

(C) ¥RRr Rord e (D) Izt e sife SR
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Which of these is not a commercial bank ?

(A) State Bank of India (B) Punjab National Bank

(C) Reserve Bank of India (D) Central Bank of India
Hvs—d / Section-B

sfasra / History

oY SN 939 / Short Answer Type Questions

T T 1 ¥ 6 T oY SR 2 | 34 U gl 3 UeHl & SR G | TS U B
fory 2 & FFIiRT 2| (3x2=6)
Question Nos. 1 to 6 are Short Answer Type. Answer any 3 questions. Each

guestion carries 2 marks. (3x2=6)

1, ST Hifd W ATRIATG BT RIT J91d ST ? 2
What was the impact of Marxism on the Russian Revolution

2. IO FHToTara] faaReRT @1 g ? 2
What is Utopian socialist ideology ?

3. RIS STTQIel BT FT HROT o7 ? 2
What was the cause of Khilafat movement ?

4, STHAT @ TdHIHROT o q qrRmy a7 off ? 2
What were the main obstacles for the unification of Germany ?

5, Tief—sfas Yae w1 7 ? 2

What is Gandhi-Irwin Pact ?

6. ST g AT BT & Ie¥g 9T o ? 2
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What was the main objective of Bretton Wood’s conference ?

4" S99 939 /Long Answer Type Questions
U9 GT 7 3R 8 4 SN B 399 I Bl U &7 SR T | U U B foIv
4 3k gRT T 1x4=4

Question Nos. 7 and 8 are Long Answer Type. Answer any one of these.

Each question carries 4 marks. 1x4=4

7. SToll & DGR HI UiHAT BT Feg H quid o | 4
Briefly describe the process of unification of Italy.

8. gorq fdeq gg o1 9Rd H IEH ARIed & [dbrd H {59 yeR G
®H ? IO N | 4
How did the first world war help in the build up of the National

Movement in India ? Describe.

I fasi=1 / Political Science

oY SR 93 / Short Answer Type Questions

Ue AT 9 W 12 % oY SN & | 599 I el 2 UeAl & SR G | UAD U

@ forg 2 of fRuiRa €| (2x2=4)

Question nos. 9 to 12 are Short Answer Type questions. Answer any 2

questions. Each question carries 2 marks. (2x2=4)

9. T BT AfST faaRe @7 8§ ? 2

What is the horizontal distribution of power ?
10.  °®Hdd H T 98d BT P FIT Hed © ? 2
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11.

12.

What is the importance of Anti defection law in a democracy ?

TR gRYg & TS 3 ford | 2
Write the main organs of Nagar Parishad.

wAF IOIfad FTed ®T§ 2 2

What is an independent political organisation ?

4" 3a8g 999 /Long Answer Type Questions

9T IT 13 IR 14 < ST 2] 3799 A ol T &1 SR < | D U &
foTu 4 3t fAgIRT 2| 1x4=4

Question Nos. 13 and 14 are long answer type. Answer any one of these.

Each question carries 4 marks. 1x4=4

13.

14.

FAAM IR § ST § Albdd Bl diF—d W gAlaal & 2 fagee
PN | 4
Describe the challenges faced by democracy in the current Indian

politics.

YT Apaa H AT B ARERT & i~ T a1 € ? 9o N |

4

Describe the different ways of sharing power in modern

democracy ?

31ei 9= / Economics

e S8 93/ Short Answer Type Questions
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U AT 15 W 18 TP ofg SR 7 | [l 2 Ul & SR & | TP e & forg
2 3w FRIRT 2| 2x2=4

Question Nos. 15 to 18 are Short Answer Type. Answer any 2 questions.

Each question carries 2 marks. 2x2=4

15, TS Srfegaeel] dl fhd YbR gaIfdd &l & ? 3T SaIeN0 ¢ | 2

How does economic depression affect the economy ? Give two
examples.

16. & RIS & afRaiya & | 2
Define economic planning.

17. TSI T 3 39 T FHsId & 2 2

What do you understand by national income ?

18. SUHTET STIRUT | AT IFTT %\: ? 2

What is meant by consumer awareness ?

e ST 9349 /Long Answer Type Questions
9T &I 19 3R 20 < ST 2| 598 I bl Th &7 SR T | ISP U &
foTu 4 3 HgIRT B 1x4=4

Question Nos. 19 and 20 are Long Answer Type. Answer any one of these.

Each question carries 4 marks. 1x4=4

19. a1 & & [Abg F RS GRaT & IS W UHTeT St | 4

Highlight the contribution of infrastructure in the development of

service sector.
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20. I 3 H gig <9 @ s e & forg fd avg 9 awus 2 7
quIT P | 4
Describe how an increase in national income beneficial for

economic development of the country.

Mol / Geography

e ST U3 / Short Answer Type Questions

U AT 21 ¥ 26 TP oY SR & | fhel 3 YAl &1 IR & | IId WA B forg
2 3% MaiRT B | 3x2=6

Question Nos. 21 to 26 are Short Answer Type. Answer any 3 questions.

Each question carries 2 marks. 3x2=6

21, g TEH & UHRI B - Iarsy | 2
Name the types of iron ore.

22. Ag SA T ? 2
What is soft water ?

23, faery anfefe e o 7 Sifduma § ? 2

What is meant by Special Economic Zone ?

24. T THU HaT W H HH HETD © ? 2

How is crop rotation helpful in soil conservation ?

25. g9 faTer & fH=<f T BRUN BT Ioold BT | 2

Mention any two causes of destruction of forest.
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26.  TFAURR $ RAT ITAATAr g ? 2

What is the utility of limestone ?

4" a8 999 /Long Answer Type Questions
9T AT 27 3N 28 <IE SN & | fhl U U9 &l SN < | Uhd U & foIv 4
3ip feiRd 21 1x4=4

Question Nos. 27 and 28 are Long Answer Type. Answer any one question.

Each question carries 4 marks. 1x4=4

27. fer &1 Bl a1 77 gl gRITTARN BT goiT & | 4

Describe any two river valley projects of Bihar.

28. GITET & GRET0T & SUTRT Bl 2t B | 4

Discuss the methods of conservation of resources.

3a<r 99¢+ / Disaster Management

o S8 93 / Short Answer Type Questions

T AT 29 W 32 IF ofg Sokig 2| gl 2 U A SR S| UAd U9 B forg
2 3 fAuiRa 2| 2x2=4

Question Nos. 29 to 32 are Short Answer Type. Answer any 2 questions.

Each question carries 2 marks. 2x2=4

29.  Up BN Ugfd P PIs I AT a8y | 2
Mention any two methods of Dry farming system.

30. STl fawToTes & &ar 2 2 2

What is watershed area ?
31. qre =0T & 31 U 9dTSv | 2
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32.

Mention two measures of flood control.
YhUR TR AT 2 ? U YU aM & A qarsy |

What is Seismic wave ? Name the main Seismic waves.
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